o
&

=13
e ]

ItRHTEAXNEREESES] (2)
YRR EERNIERSE 2019.6

—. BILUEHEFES (&30 9)

= 16 17 18 19 20
= CD AC BCD AC BD

21.0C 26\ 23, WmEE 1
6 57
F
ZHE 1
24. (D k& (2) 27 (3) 10 (4 45y
25. (1) WA (2) 86 (3) HRESIEE K
(4) 97 NT 7
26. (DB () K BIEEKT Sem 3 4%
27. (1) P=UI
(2) mEE 2
473
(3) 1 0.28
28. (1) WX ) M OEE 39
29. (1) “PHISFTBUGI RN 5PIRE - A K 29y
(2) BBl B, C. E. F 4 hhs A TGN AR A% 19y
30. /1 Fi—F F;—F Fi1—F>=F;—F; 45y

PHAGER LD ZE 51 L350



31, (1) M T A S LK L7
(D) EBBEOFK A S R — 52— KBRS, WATFY%, dahiRmR
¥ 1.
CHA B E R4 40 29
32. SEIIDIR.
(1) A H R THCTE AT 0588 ch e R0, 5 2 00 B SR Y PO 1) 2, 20
B RO B AR RN 3230 ISR 5, BB R m % 5ot (MG e R
() ERT O BRI, DTS (1) T — LS, KRR i 2 R
Bom XTI s, ¢ ARG ER .
(3) MR v=s/t T VS R FE T ZE R 39
CHA B E R 40

LI HHRIC R TS

m/kg

s{m

/s

v/ Cm=-s?t)

145

M. REREZE (34 59)
33. (1) K/AH VAR RADIEE B AR E 1m
(2) /MF
(3) Bl 1. AINRERISENN, EREMARUE R, B IR AR X T B A,
DRI e T2 B
A2 YA NIREEE, ERARE R S S IE R R, R A
R 2 B v O IR B, DR k15 L
CHoAh 3% E R 455 4

B.HEE (FE75)
34. (1) L =1-1,210A> 04A=06A

S

U= I,R,=0/6AX20Q =12V

AU, :
I, 0.4A

2

(2) Q=L Rat= (0.6A) 2x20Q x10s=72]
CH AR IE #2593

WHAEER LD ZE 5200 (BL 350

o)

Bl



35. fif: (1D ANKIZJsERE HE G mEE 3

Fy
Fy

G, (\)&
(2) RHEEE, X G=300N I, 1=75% P &%\
W, G _ 300N __. e, - ©

B WZ_G+G%_3OON+G% % P\

gy p L Fo2h 300 - 240W 1
t

t (2
é%?xﬁkﬂ’aw R
\ \ 2%

» g=6®@0N/kg=6OON

117153 ¥1:

F ;,=600N-400N=200N
VRSB &R PAP Y= R (D)
Fy=F 4

n

1S G ,=100N

F; _ 200N

P25 ooam 0O £ g

WEREER LN SHE F 30 GE 370D



	三、实验解答题（共39分）



